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ERRATA

1) p. 69 addition of term -g to (6.26)

∂∆u

∂t
= −

1

(ρ0 + ∆ρ − ξz
∂ρ0

∂z )

∂

∂z
(p0 + ∆p − ξz

∂p0

∂z
) − g.

2) p.71 correct 6.40 to

vphase = cu

[

1 +

(

1

2KH

)2
]

1

2

.

and (6.43) to

vgroup = cu

[

1 +

(

1

2KH

)2
]

−
1

2

,

3) p.120. Replace ‘Using GM
rs

= c2
s from above’ by ‘Using GM

rs
=

2c2
s from above’

4) p. 145: eqn (10.88), should be

p1 = K1ρ
γ
0 + c2

sρ1.

5) p. 153. Sign errors in (11.12); should read:

σ′

ij = −η

(

∂ui

∂xj
+

∂uj

∂xi
−

2

3
δij

∂uk

∂xk

)

− ζδij
∂uk

∂xk
,

6) p. 154. In paragraph beginning ‘Secondly...’, replace ‘all the

diagonal terms are equal’ by ‘all the diagonal terms ∝ ζ are equal’.

Similarly, in following paragraph replace ‘the diagonal terms are

all equal’ by ‘the diagonal terms ∝ ζ are all equal’.

7) p 210. Example 19, replace ‘Give the corresponding density



2

distribution and show that in these solutions the mass at small

n...’ by ‘Give the corresponding density distribution and show

that in these solutions the mass at small r..’

8)

 

p.

 

215.

 

Example

 

34,

 

replace

A(z) =
Ao cosh2

(

z
zs

)

[

1 + 2
(

Aoρoj

Ṁ

)2 R∗Tj

M ln
[

cosh2
(

z
zs

)]

]1/2

by

A(z) =
Ao cosh2

(

z
zs

)

[

1 + 2
(

Aoρoj

Ṁ

)2 R∗Tj

µ ln
[

cosh2
(

z
zs

)]

]1/2




